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Question Number : 1 Question Id : 8321473801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following reaction is an example for
Bob 555 B8 ereeEes?

CH3

XNy [AICK]

| ==
5 + CHACI
NF TG

Options :
Nitration

e5*A8Bee0

Sulphonation

ﬁéﬁq}ﬁéémo

Friedel — Crafts Alkylation
RS - (505, 080880
@3S - &g =8

Friedel — Crafts Acylation
2GS - (5o, ©3DE8e0

Question Number : 2 Question Id : 8321473802 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A mixture of o-nitrophenol and p-nitrophenol 1s separated by

0 - JE° DS 2080t p - J&° HIS W(ErR) BE® SEHBRE?

Options :

Vaccum distillation

aﬂéﬁéﬁj }5053550
1, ®
Distillation
fqgtﬁéa
2. %
Steam distillation
@88 ?3565{00
3.¢¥
Extraction with aniline
oDSE® JoKro
4, %

Question Number : 3 Question Id : 8321473803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Molecule which 1s 1sostructural and isoelectronic with benzene 1s
BodSE" KErsS Aol Hbakn ¥ BPS Kerard) EOAS e

Options :
B3;N3Hs
1.¢
Ci2H12



3. % B2He

BiN3HqCly
4, %

Question Number : 4 Question Id : 8321473804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Reduction of 1socyanide gives
0RFPRIE FarEbole A8 )KS8?

Options:
Secondary amine

2E0E0 oD
1.9

Primary amine

@00 oS
2. %
Tertiary amine
BOAHO O
3. % ™
Amide
D&
4. %

Question Number : 5 Question Id : 8321473805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The reagent used to distinguish between 1-butyne and 2-butyne 1s
|-205 B8 08650 2-engBRe 3t Dbl ebarhoL so880?



Options :

Tollen’s reagent

S8R sP880

1.4
Fehling’s reagent
5edoh se880

2. %
[,/NaOH

3. %
Benedict's reagent
BIAE s°880

4. % i

Question Number : 6 Question Id : 8321473806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Name the product in the following reaction
800 SBgS® AEYR wd)$)0 D?

H»O
CeHsMgBr + HCHO — 7

Options :
I-phenylethanol

1-236 283°S

1. %

I-phenylmethanol
[-236 PSS

2. ¢

Diphenylmethanol
RIS DESS

3. %



Benzoic acid

Bo&onE edo
4. %

Question Number : 7 Question Id : 8321473807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The reaction between phenol and CO; is called
535S LHBasw So8)S Bairg)Ee oess 2387 58?7

Options :
Kolbe’s — Schmitt Reaction
EGBQ - ﬁgé’.beé étﬁé

1.4

Reimer — Tiemann Reaction

86 - B8 585

Gattermann Reaction

rw&atfgS iﬁtﬁeg
3. %

Perkin Reaction

2R iSEﬁg

Question Number : 8 Question Id : 8321473808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Cis-trans 1somerism 18 observed 1n
808 0S° BR-ErT) adFDhBeso EOAKE?



Options :

C->H4
1. %

C->Hg
2. #

CsHio
3,

C,>H-Cl»
4, &

Question Number : 9 Question Id : 8321473809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[dentify the most stable free radical among the following
808 T2S° wh¥ B30 EOAS f&&aﬂa [PBHRED D80S0’ ?

Options:
Primary
2506
1. % &
Secondary
Efelnta)
2. %
Methyl
@S
3. %
Tertiary
B6cH0
4.«

Question Number : 10 Question Id : 8321473810 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following amino acid 1s non-essential?
Bobd TPAS° DB ©HE;E0 5°R) OFS® WFHH?

Options :
Lysine
825

1. %
Thryptophan

. 68
Histidine
2o RS

3. % =
Proline
505

4.+

Question Number : 11 Question Id : 8321473811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Number of "H NMR si gnals produced by ethanol are
aBSS G (8¢S NMR HoS@een AR ?

Options :
Two

- 3ot
Three
S0P

2. ¢



Four

Teenid
3, #
Five
R o[~
4, ®

Question Number : 12 Question Id : 8321473812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a reaction
Pd — BaSOy
X + H, — R-COH, the compound X" is

2 S8568° X' @0:0%6?

Options:
An acid
2.8 35w
1. %

An acid chlonde

.8 wd 888
2. %

An ester

e.8 ON6
3. % €

An amide
a8 P&

Question Number : 13 Question Id : 8321473813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The internal standard used in NMR spectroscopy is
NMR 8256 5830 3BrA0ES 00888 (@sreds Hrrgo 6?

Options :

Nas[Fe(CN)sNO, |

1. %

S1(CH3),Cl5
2. ®

S1(CH3)s
3.v

Si(CHj3);Cl
4, %

Question Number : 14 Question Id : 8321473814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The bond order in He molecule 1s

He ©e098® 208 (E00?

Options :
Zero
st
cDaTe

1. ¢ o
One

- .88
Two

- SoH



Three

S0T°80

Question Number : 15 Question Id : 8321473815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The shape of Ni(CO)4 1s
Ni(CO)s G30E) @é@)@?

Options :
Pyramidal

DBMES

1. %

Square planar

Qe SRBSW
2. %

Square pyramidal

Qe DBDES
3. %

Tetrahedral

B(er S
4. &

Question Number : 16 Question Id : 8321473816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following halogen acids, which one 1s the strongest acid?
808 %R edined® o8 poHk ek 26 ?

Options:
HF

1. %



HCl

2. %
~ HBr
3. %
HI
4.

Question Number : 17 Question Id : 8321473817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The indicator employed in complexomelric titration of magnesium with EDTA s
Dlijoho B EDTA® dotfs 67 Sod 588 DEARE aarA0D ieDE?

Options:

Phenophthalein

PTTOR
1. %

Methyl orange

36 sBo&
2. %

Catechol

- oo&8bS

3. %

Erichrome Black — T

RBE°D orE - &
4.

Question Number : 18 Question Id : 8321473818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The valence shell configuration of “Mn’ 1s
Sr0RAR BB ey e VTR DTGB ?
@ L=
Options :

3d’4s’
3d*4s?

3 ¢ 3d’4s?

3d°4s”
4, %

Question Number : 19 Question Id : 8321473819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The CESE of Co(III) in [CoF] s
IC{JH;.F3 éo@é Xamgéneﬁ% Co(IIT) Gn%), )48 glgj %5565& %S (CFSE) do&?

Options :
—4Dg + P
1.¢
—6Dq + P
2. %
. ~SDq+P
—-10Dg + P
4, %

Question Number : 20 Question Id : 8321473820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
The compounds [Cr(H,0)6]Cl3 and [Cr(H,0)4Cl,]C1.2H,0 represent
[Cr(Ha0)6]Cls 980t [Cr(H20)4Ch]C1L2H:0 o6 seodrotd 38 Bo6:8?

Options :

Ligand isomerism

Srro& bbeo
1.%

Linkage isomerism

2:0K000eS 80
2. %

Hydrate isomerism

20@¢5 0fBez0
3.¢

Stereo isomerism

RO B0
4. %

Question Number : 21 Question Id : 8321473821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The oxidation state of ‘Fe’ in Haemoglobin is

SrRritARe® 0is wysse R8?

Options :



+1

Question Number : 22 Question Id : 8321473822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Lanthanides are separated by

rofZEod O HEBS® I TFB?

Options:
Fractional crystallization
g ESes $)3888e50
1. %
Solvent extraction
[Eeed D8N0
2. % B
Complex formation using EDTA
EDTA &° $0Bar) 28 BBLED Tego°
3. %
[on-exchange method
OAPR - $r0)8 HRS
4.v ®

Question Number : 23 Question Id : 8321473823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Persulphate - 1odide reaction follows a second order kinetics. The units for the rate of the
reaction s

3365653&5 - udrGBo S &b 5% G K8 Bybad §irosin wan, o 36 Qg
e

Options :
1.4



g g
L.mol .s

d. IS 1. 280&!

mol.L.s™!
S, . DBo&!

L.mol 25!
L O 36 80k

Ls™!

®. 2ok
4. %

Question Number : 24 Question Id : 8321473824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary reference electrode used for the measurement of electrode potential is
T SBIS Sotising” adros (Es (Hiirn QEE 267

Options :
Glass electrode
reese 5)&:@55

1. % e
Normal Calomel electrode
Foetes 8RS aagﬁé

2. %
Standard hydrogen electrode
(BSmee 2RE"RS &J&}EEE

3. ¥



Silver — Silver chloride electrode

DesB - dexb §°BE aﬂgﬁ

Question Number : 25 Question Id : 8321473825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation which shows the variation of heat of reaction with temperature 18
A ES° o5 eio Go¥) 3R Ko KHepesiin?

Options :

Kirchoff™s equation

B o4
- %55@3:: 388w
Van't Hoff equation
- 085 58 H&pEBess
Arrhenius equation
&8 QaHD HEBeasin
3. 7
Gibbs — Helmholz equation
A - ard) S $o8teasio
4. %

Question Number : 26 Question Id : 8321473826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total number of normal modes of vibrations of N2O molecule are
N20 @i ¥ Feedes Sodd b dogg?

Options :
1.



o % 3

3x O
2

4, %

Question Number : 27 Question Id : 8321473827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Entropy of the Universe
DE30 @) JoE*d?

Options:

Increases to maximum

ﬁagonﬁ e od
1.4

Decreases to lowest
é?\'}gorw éﬁﬁ:é"@o&

2. %
No change
SeB D

3, %
Intermediate
aﬁ:eﬁg)ﬁo

y Q
4, ®

Question Number : 28 Question Id : 8321473828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Cell constant of a conductivity cell is given by
TERES Hotoo @) Hob> JTroE0 B TP KrDoUHE08?

Options :

lsca
1. %

5 @ I/a

all

R x a/l

Question Number : 29 Question Id : 8321473829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Kohlrausch’s law of independent migration of 1ons 1s
eairg $38ol@ S BDoHEN 86 - 7R Aabdsn Hsedo?

Options :

}-.;.g = i}'n.c + }La
1.4

.?'l.-;.: = }'-.-c 1 }I\.Ei
2. %

;*I.-;.': = .}'n.a S }“-[‘
3. %

.}'\.yg = ﬂl"lll.}'n.c + }'-.-ﬂ

Question Number : 30 Question Id : 8321473830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The value of Van't Hoff factor for a dilute aqueous solution of glucose s
DOX Heso KrER [oreso GnE) arol $EH s°8%0 Denid?

Options :

1
1.4

2
2. %

3
3. %

4
4. ®

Question Number : 31 Question Id : 8321473831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Modern theory of strong electrolytes was put forth by
2O IBE'BE ) BLHIS dEPoEd) HBFEON0B A5?

Options :
Ostwald
. o
Ghosh
wLobED
L. IR
Debye-Huckel Onsager
&g - Sor8d - wond
3.¢

Van't Hoff

05 85
4, %



Question Number : 32 Question Id : 8321473832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrhenius equation for a chemical reaction is represented as
BDS $Bg GE) @éﬁ Q0HS ?o@ﬁﬁ&b Qore LedTeEd?

Options :

K=A xe 2Kt
1. ¢

K=A/ERT
2. %

K =Ex ek
4. %

Question Number : 33 Question Id : 8321473833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bragg’s law 1s given by the equation
eh QoHBE0 Kordod HapEBesin?
Options :

2n A =dSind

1. %

2n A =2dSind
2. %

ni = 2dSind
3. v



n/2 = d/281n6

Question Number : 34 Question Id : 8321473834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a vector quantity?

Bod TQS® 368 0o DB?
Options :
Mass
. (3508
Work
<Y
2. %
Force
Q0
3.V
Distance
4w &80

Question Number : 35 Question Id : 8321473835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rocket works on the principle of conservation of
o°8¢5 @ Q&g AADZDXDR) H5087?

Options:
Energy
58

1.% =



Mass
BXgo°3

Al]gUEﬂl' momentum

. &8s (5o
Linear momentum
3ch (5853150

4.

Question Number : 36 Question Id : 8321473836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What did Rutherford’s alpha particle experiment prove?
ej;«:éﬁ‘bé Sy es (D@0 A K}gﬂa‘@p&}?

Options:
Electrons
BS°R

1, % &
Nucleus
So|¥%o

2.

Protons
B8P
3. %

Neutrons

o5

Question Number : 37 Question Id : 8321473837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



One rigid body having angular moment ‘L 1s rotating and its inetic energy (K.E) is divided into
two parts. What will be its angular momentum then?
S o ‘L’ 8RS .8 8% K (fimos® ). B9 1Be:E Botd gprmene 3R T

Q008 o8 B&0d?

Options :
L

1. %

) L2

Question Number : 38 Question Id : 8321473838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kepler's second law is known as
826 B3B3 AAHEPR) S DeFore DepJeB?

Options :
The law of gravity
e EEes Jabaoo
1. % =
The law of periods
ﬁaﬁdﬁjﬁg Dchsvo
2. %
The law of areas
(&ro& Qoo
3.¢



The law of orbits
éaﬁﬁg Alovirivie)

Question Number : 39 Question Id : 8321473839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Michelson — Morley experiment was conducted to
BS I - 38 (DAY JotHE ELZPIE?

Options:

Measure the motion of earth relative to ether
el BEDES 43685 QFBE)J R]gﬂ@ofécsﬂmé

1.4
Measure the speed of light
5208 e ATBoSERS
2. %
Study the 1sotropy of space
R0 Q&) HEFHSD :-"Jgﬁ&:oﬁmﬂ&)%
3. %
Study the motion of space
Egrg Bl AgeBoSEe8
= @
4. %

Question Number : 40 Question Id : 8321473840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the total energy of a particle is thrice of its rest energy, then the velocity of the particle is
&8 §30 ¥) dndo 48 oA Fod $8 éau S0P B oK, 8ea Mo dod sH%H08?

Options :
1.



242¢

3

V2c2
2. ® 2

\."-2

3c
3. %

-
g% V3

Question Number : 41 Question Id : 8321473841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not essential for simple harmonic motion?
08¢ Ford)E SordS Koa0god sdd;Eo 5200 6?

Options :
Elasticity
DBIRHEES

1 % @ @

Restoring forces

DIBLEes EEew
2. % 2
Inertia
- 235580
Gravity
Mooz ESes
o,

4.+



Question Number : 42 Question Id : 8321473842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one 1s used in the electrical method of producing Lissajous figures?
OaPerd Finjen 08)03 kg8 AERos® eHGPAOLDNE ?

Options :

Cathode ray oscilloscope

$5°5 & L8RS

1.4

Black Burn’s pendulum

g8 @b So¥o
2.% 7 o)
Vibraton microscope
. Zodd PEREHS
Sonometer
QESF0ed
4. %

Question Number : 43 Question Id : 8321473843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. . o s k b
The expression for the time period of damped oscillations 1s if [w = \/E: r=\—]

m
(0= \%; [= \f%] o O Eomro SRR éﬁé&oé X% on8%807?

Options :

21
= -
Vwé—rs

1.4

2w

1".'0_,2 +r2
2. %



1 1

2 Vwi2-r

Question Number : 44 Question Id : 8321473844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The frequency of ultrasonic is
800 TE) D D50

Options :
200 Hz
200 ij"og

1. % =
2000 Hz
2000 35

2. % &
10000 Hz
10000 35

3. % -

More than 20.000 Hz
20000 286 E0) D8NS
&

Question Number : 45 Question Id : 8321473845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The angle between the mirrors in Michelson interferometer is

D3NS ao&:fﬁb)fjsibﬁjﬁé% OT°© o &500?

Options :
90°

Question Number : 46 Question Id : 8321473846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following can act as coherent sources?
Bod BS° DY Hoags Surerenre HABI00?

Options :
Two bulbs of 60 W
60 W BDAS 3ok e)en

Two half of a 60 W bulbs

60 W 22e0)&° Botd grrren
2. %

Two imaginary images formed by Fresnel’s biprism

@S fzdeso S° DBYE Botd &stadd Dgren
3.



60 W bulb and 100 W bulb
60 W 2ex) S0Bain 100 W )

Question Number : 47 Question Id : 8321473847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Fresnel biprism arrangement two virtual coherent sources are produced by

@0 B8 &P 6% Botd 58 Soatss Sreroid der A8)HRh?

Options :
Reflection
- (288)o2am
Refraction
- S18855850
Dispersion
L. 8518y

Interference

a’ﬁéaéémo

Question Number : 48 Question Id : 8321473848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Holography is meant for

Se85% H8%0 éé%oém&o&

Options :
Sending images from one place to another place

Do 2.8 (HRFo Do HE°E (HAEE HoHrrdE

1. %



Recording images

Dgreds 8578 VaveeRS
2.

Deleting images

§ DEred E0R0WNEERS
3.

Both (1) and (3)

2,88 (1) obckm ot (3)
4. %

Question Number : 49 Question Id : 8321473849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a Ruby Laser. which 1ons give rise to laser action?

88) BB BB 58550 DBYOD wAPS DB?

Options :
AlLO;
1. %
3+
5 % Al
Cr3+
3.
A
Cd™
4.

Question Number : 50 Question Id : 8321473850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To occur Fraunhofer diffraction, the wave front incident on the operture must be
%0 S0 DG T8 @ﬁ}tﬁ)ﬁ?ﬂ SBoKK090 Aer Goed)?



Options :

Spherical
% Dgesedo
Plane
QDo

2.
Cylindrical
SFviisilele)
3.% @
Elliptical
BB TS0
4.8 %

Question Number : 51 Question Id : 8321473851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The crystal which produces ultrasonic waves by piezoelectric effect is
5% Q8 To30° 0BR SBorred 25,88 $)880?

Options :
Quartz
Sﬁég
1.4 =
Germanium
@3&&'}&30
2. %
Diamond
G0k
3, %



Silicon
2OseR

Question Number : 52 Question Id : 8321473852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[f the temperature of sink 1s 27 °C and the source 15 127 °C, then the efficiency of
the Carnot engine 1

208 &8 27 °C 000t oo aRHE 127 °C wond S5 soal 5)"{)3(350 ?

Options :

1. %

Question Number : 53 Question Id : 8321473853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Joule - Kelvin effect, which of the following gas temperature rises”

£6-80% [eriio (560 Bob a8’ O ol e oiH%H08?

Options:
Oxygen
8y

1. % “‘j
Nitrogen
S

2. %



CO;

SR Ge8)B
3. %
Helium
S50
4,

Question Number : 54 Question Id : 8321473854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Classius — Capeyron’s equation is
SPRCHH-EHAHTeE K¥ELEBE0 ?

Options :

dP _ L(Vz-V1)

drT T

dP L
dT T(T:-T)

dP  L(T;-Ty)

dv T
3. ®

dp L

dV  V(T:-Ty)
4. %

Question Number : 55 Question Id : 8321473855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



According to Rayleigh - Jean’s law, the density of energy radiated by black body at temperature
‘T and frequency *v" is inversely proportional to
60-48 Ao (5o ‘T RS oot v 2reiibgo 518 K 9 e Sewiic o8

ol B8 D6 roiPdos® dotnod?

Options :
hv/2kT
" =1)
1. %

2.9

m/2kT
1 ™ *

/KT
e I
4. %

Question Number : 56 Question Id : 8321473856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The temperature (T) at which Gibbs free energy becomes “Zero’ 1s

Ad) f’a&xﬁa 8 Jomoy e S0 a2frE?
Options :
=
5

1.4

|

S+H



Question Number : 57 Question Id : 8321473857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Enthalpy of a system 1s given as
a8 S5 ) DOTEDY S DPOre JreDIE?

Options :
., H=PY
1. %
2. % H=U
H=U+PV
3.
H=Px s}
4, %

Question Number : 58 Question Id : 8321473858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In an LCR circuit the energy is dissipated in

a8 LCR :'1353"875555 $8 JotS® IBeetood?
Options :

‘R” only
‘R’ &* Sooad

‘R" and ‘L" both
‘R’ 0605 ‘L’ Bolos&®

‘R’ and ‘C’
‘R’ 865w “C° &°



In all the three
2 SrloBs®

4. «

Question Number : 59 Question Id : 8321473859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Lenz law is a consequence of the law of conservation of
BoE JaHHrdm @6 B Q583 A0 BnE) DO ?

Options:
Charge
8380

1. %

Mass

. (Bgo°3
Energy
38

3.
Momentum

. 5553050

Question Number : 60 Question Id : 8321473860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Magnetic field inside a solenoid 1s proportional to
FOT ok 6%50 ©HI)0d §¥o B8 es Srkaardod® &otnoh?

Options :
Directly to current

Sore D&
1.¢



[nversely to current

VAT DS o
2. %
Directly to its length
SBore EHH
3. %
[nversely to the total number of turns
Soeo &chljé} Q&vore
4. %

Question Number : 61 Question Id : 8321473861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Magnetic effect of current was discovered by
DS ADI0E (gParl) EHATNH dHE?

Options :
Kirchoff
=N
1. % SO
Joule
, 8 O
Faraday
3. ¢ @tt‘jé
Planck
Jrob
4, %

Question Number : 62 Question Id : 8321473862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
A diode used for voltage regulation 1s
8.8 DoHoEestd GDHAPNDIE ERrE D6?
Options:

Junction diode

i 8oEN BArE
1.
Tunnel diode
&}E&eﬁ L&
2. %
Zener diode
236 Eadr&
3.¥
Varactor diode
2886 &
4. % -

Question Number : 63 Question Id : 8321473863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The value of solar constant 1s
“’:o:n55 Rambuéo enN?

Options :

1340 Wm™>
1. ¢

1430 Wm™>

1304 Wm™>



3140 Wm™2

Question Number : 64 Question Id : 8321473864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Raman spectrum, lines of smaller wave length are called
oD $H00S° B ééoﬁ@ﬁéo EDAL Dpodd AHotr?

Options :
Rayleigh lines
30 Spen

1, %
Raman lines
oD Sew

2. %
Stokes lines
EEY Syen

3.8 © )
Anti-stokes lines
B3 ﬁgﬂgl‘} Seen

4.

Question Number : 65 Question Id : 8321473865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The neutral particle emitted in B-decay is
[i-g_ciﬁméﬁ 3)&3(5@6535 é&:é Ees0 ?

Options :
Neutrino

é:ﬂé@&%ﬂ

1.¢



Neutron

Lo e
2. % 8¢

Photon

Do
3, %

T-meson

T-S035
4, %

Question Number : 66 Question Id : 8321473866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Geiger — Nuttel law 1s connected with

AKB - $&6 danso HA8 H502080256

Options :
p-decay
p —gaho
1. %
a-decay
0-Edho
2.4
v-decay
i ={evilo]
3%

Disintegration of nuclei

So(tsE D0

Question Number : 67 Question Id : 8321473867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
The structure of NaCl crystal 1s
NaCl )88 «5)87?
Options:
Simple cubic
- Jee8es é}gﬁ)@

BCC
BE

HCP
4, %

Question Number : 68 Question Id : 8321473868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[fazbzca=f=90°#y, then it represents what kind of crystal system does it represent?
azb#ca=f=90° £y 030 398 Kom0Bods 5&63% X)éé@?

Options :
Orthorhombic
es&Porof)E

1.% @

Trichnic
B8RE

2. %

Monoclinic
RrSBOE
3.¢¥ ~



Trigonal

@ﬁ%eﬁ

Question Number : 69 Question Id : 8321473869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The SI unit for electric dipole moment is
3)(‘.5355 B3&) greBo ang) Sl AeQe5 ?

Options :
Coulomb. meter

Ererod. Snerd

1.4

Coulomb. meter”

, x  Ererod.aned’

Coulomb. meter’

. L7008, 85?2

Coulomb. meter”

} Eyoeeod. S0e54
4.

Question Number : 70 Question Id : 8321473870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the given conductors which one has highest critical temperature?
808 arirsres® 38 Sl Ak éoﬁhg agﬁ@ié &oéoh?

Options :
1. %



Aluminum

@ﬂﬂﬂé&b?\]cﬂm
Zinc
208
2. %
Molybdenum
SNVt ILANNISY
3. % =
Tin
S
4.9

Question Number : 71 Question Id : 8321473871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Heisenberg’s uncertainty principle h/2x < 1s
e 0 @8 )88 Aahsdo (Hsedo h/2n <
a_ n s —

Options:
Ap X AX

AX X At
2. %

AE x Ap
3. %

Ax x AD

Question Number : 72 Question Id : 8321473872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The 1deal super conductor exhibits
Clalepilivetutel ALY (5858)806?

Options:

Meissner effect

@ﬁzﬁE [2dgrs0
1. ¢
Mesomeric effect
A8 [HgrSdo
2. %
Monomeric effect
i [ BE (HgrLo
3.
Both (2) and (3)
(2) s0bciw (3)
4, %

Question Number : 73 Question Id : 8321473873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Neoprene 1s a
ABPDE @56 ?

Options:
Fibre
55 Hedo
1. % ®
Drug
ZAL0
2. %



Plastic
g
it I % )

Rubber
63:55

4.+

Question Number : 74 Question Id : 8321473874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bakelite 1s obtained from phenol by reacting it with
Bod FBE° TS Hed S axsiHiio Hed BEJE A oEhod?

Options :
Acetaldehyde
DEFPOTE

1. % =
Acetal
EFRS

2. %

Formaldehyde

v TOREE
Benzene

4 x BOES

Question Number : 75 Question Id : 8321473875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following polymer is thermoplastic?

808 AS® DO FEYFRE FOKE ?
~ 8



Options :
Teflon

BS

1.¢
Natural Rubber
SeSees 62.3335
2. %
Cellulose
- R:méeﬁaﬁ
Silk
e
4, % 2

Question Number : 76 Question Id : 8321473876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average molecular weight of polymer is obtained by the measurement of property such as
00 Gg) P8 it wengrto o) oferd) Soiitio e Potfiisy ?

Options :
Osmotic Pressure
@%ﬁ&éﬁg 5,%%0

1. %
Light scattering
508 é&éﬁmo

2. ¥
Vapor pressure
6 5HK%0

3, %



Refractive index
&8558 oD%

Question Number : 77 Question Id : 8321473877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a linear polymer?

Bod TeQS® 3¢ OB 06 ?

Options :
Nylon
JEPR
1.¢
Bakelite
[EBES
2. %

Low density polythene

BESB Joo|BS BOAS POHS

3. %
Melamine — formaldehyde polymer
DODR- FeoRYrE FOK0

4. %

Question Number : 78 Question Id : 8321473878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a chain growth polymer?
808 8° «a;_joa:]&:: é&@ D06 6 ?

Options :
1. %



Nylon—6

IR -6
Dacron
°(S°R
Glyptal
AZPS

3. %

Polypropylene
T TOK

4.+

Question Number : 79 Question Id : 8321473879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Buna — S 1s obtained from
2G-S % B 50l @“Deﬂa’aiial)éﬁ)?

Options:
Adipic acid + hexamine
o35 6o + 38

1, ®
Butadiene + Stearic acid
wegéytécm5+ 290068 esHo

2. % . o
Butadiene + Styrene
QPSP QDR+ @55

3.V i

Adipic acid + Styrene
o888 efHo+ JO8
4. % kS



Question Number : 80 Question Id : 8321473880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Synthetic polymer prepared by using caprolactum is known as
SRFPERDD SHAPAOY SRS o )B> FOLE DB ?

Options :
Terylene
| % BOOR
Teflon
.. 828
Nylon-6
JerPR-6
3.¢
Neoprene
ABFDS
4. %

Question Number : 81 Question Id : 8321473881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chloroprene is the repeating unit in

§6°08 ot Bobd aRS° TR HVToE)E A ?

Options :
Polystyrene
FONOR

1. % £
Neoprene

ATPBS

2. ¥



PYC

3 xS
Polythene
FOHS

4. %

Question Number : 82 Question Id : 8321473882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Orlon 1s a polymer of
5.6°R B B FORE ?

Options :
Styrene

2505
&

Tetrafluoroethylene

L o BErgrEasds
Vinyl chloride
OIS §°38

3. %

Acrylonitrile

L &S| LcHS

Question Number : 83 Question Id : 8321473883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following contains isoprene units?

Bod aQS° oRKDHS DS EOAKE ?



Options :

Nylone — 6,6
- @@5 -6.6
Natural Rubber
Sedees 63%35
2.
Dacron
3, % m@ﬁs
Orlon
Bou
4, %

Question Number : 84 Question Id : 8321473884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which Polymer used in bullet-proof glass?
2085 -5rh Mmere® 8HBrA0E 06 HB?

Options :
PMMA

| x 200
Lexan

- SE)S
Nomex

- 553335‘\)
Perax

. 20°F)



Question Number : 85 Question Id : 8321473885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Strong covalent bonds exist between polymer chains in
FOHE e My HS0@redodh opren BAS° dotron?

Options :

Thermoplastics

- tﬁﬁﬂé@?ggw
Thermosets
- ATSPEIN)
Elastomers
5.‘:@:31*3335“}
3. ® o
All polymers
@) FOKEE®
4, %

Question Number : 86 Question Id : 8321473886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the options given below which is not a thermosetting plastic?
808 Qe 6555@;?\3&205 @%&E 50 26?

Options :
Bakelite
- 3585
Melamine
SO



Silicones

2OE%%
3. % i

Terylene

BOOK
4.

Question Number : 87 Question Id : 8321473887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following polymers may be classified as step — growth polymer?

808 FO5606° 3R pS -8 OGP ééé&oé&ﬁiﬁa ?

Options:
Teflon
L. B8
Polythene
FOHS
2. %
PN
260
3. %
Nylon— 6.6
Je°R -6.6
4.9

Question Number : 88 Question Id : 8321473888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is used in paints?

Bod ES° B BoHes® &H5BrATE ?

Options :



Terylene

86O

1. %
Nylon

2. % SerS
Glyptal
AarS

3.4 W
Chloroprene
S55S

4. %

Question Number : 89 Question Id : 8321473889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Trans form of polyisoprene is?
O a¥DS DY) EP]) ErH0?

Options :

Gutta — Percha

ri:%]: - 0%

1.¢

Hydrochloride Rubber

Z(E°S’DE B
2. %

Buna — N

enae - N
3, %

Synthetic Rubber
ROFBE Bayto



Question Number : 90 Question Id : 8321473890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The process of heating rubber with sulphur 1s called

Ee) o $0)68° S8 T (HIBAD DFooern?

Options :
Grafting
(oh

1. % -

Vulcanization

a’)&}@@_éﬁE

Reinforcement

- 65538y oo
Compounding
godro&oh

4. ®

Question Number : 91 Question Id : 8321473891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teflon and polystyrene are

BPS 500 FOPBS &I
Options :
Copolymers
5 P05
1. %
Monomers
IS DG



Condensation polymers

oGRS FOE
La RO A
Homopolymers
FRrrO06)
4. &

Question Number : 92 Question Id : 8321473892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an elastomer?
Bod 8BS derPb DB?

Options :
Thiokol

HBESS
1.4

Phenol — formaldehyde

IS - TG

2. %
Urea — formaldehyde
CorBAIP — PG
3. % =
Polystyrene
FPOROS
4. % &£

Question Number : 93 Question Id : 8321473893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Plastic articles are generally made by

FRE SKHesd JErBOrT oo S TFE?

Options :

Injection molding

BoesES Irdoh
1.4
Shell molding
28 Iedoh
2. % e
Dry sand molding
@_@5 Se®oh
3. % -
Green sand molding
AR =& J3®oh
4. %

Question Number : 94 Question Id : 8321473894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a natural fibre?
Bob 88 Sra 208 (red) 5008 DB?

Options :
Silk
€0

1.8 @

Viscose Rayon

DT S-S

2.



Wool

u’aé’\]&
Cotton
28
4, ® -

Question Number : 95 Question Id : 8321473895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Flexible plastic pipes are made of
BB FPRE pHeD BVE° ot IFE?

Options :

High Density Polyethylene (HDPE)
©b¥ JoKEse FOHOS (HDPE)

1. %
Low Density Polyethylene (LDPE)
@y Jols So rOH§OS (LDPE)
2. ¢
Polypropylene
>0 80D
3. %
Unsaturated polyester
@508 FOTDZ
4. %

Question Number : 96 Question Id : 8321473896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Viscosity of a polymer solution is
FeOH0 ([GrSeso ) NS ?



Options :
Decreases with increase in molecular weight
0580 DOAD énﬁ)é}c-&

1. %

Decreases with increase in temperature
SRS 2BAS Srpeod
) 0

[ncreases with increase 1n temperature

SRKS BOAS BBHDH08
3.¢¥

Does not vary with temperature rise

vt DBDBOE® S8
4. %

Question Number : 97 Question Id : 8321473897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Soft drinks and baby feeding bottles are generally made up of

8o Dosren ©BaM B SBR erdE) Frrdmorr BAE° $airh TH?

Options :
Polyester
FOGTHI6

1, % =
Polyurethane
FODOB

2. %
Polyamide
FOoDE

3. %

4.+



Polystyrene

&@géﬁ

Question Number : 98 Question Id : 8321473898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Orlon fiber used as a wool substitute 18
68 (HEessimyadore a8 af'S pod (D) ©36?

Options :

An amorphous polymer
&8 Qorsel arOH0

A natural polymeric fiber
2.8 $5oes FOHOE b (Bid)

Polyacrylonitrile

FOOES°FBS

3.¢

PMMA

2100
4, %

Question Number : 99 Question Id : 8321473899 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following types of polymers has the strongest interparticle forces?

808 D6 8¢ 26 dOPS @08 werOD IR S0t06?

Options :
1. %



Elastomers

QPG
Fibers
228 (hden)
2. %

Thermoplastics

38%) FPRENen
3. % =
Thermosetting polymers
@55& 2edoh 00
4.9 -

Question Number : 100 Question Id : 8321473900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Polyurethane cannot be used for making
FOANOBS 556 B SASPOS® SHDPAOLERELD?

Options :
Mattresses
DEDew

1. %

Coating material

PRI émﬂgﬂ@:

Adhesives

2rHO% HTeTeeD
3. % @

4.+



Bottles
PESS®





